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General Instructions :

(i)

The question paper comprises two sections, A and B. You are to

attempt both the sections.

(i) All questions are compulsory.

(ii)
(iv)

(v)

(Vi)

(vii)

(viii)

(ix)

31/1/1

There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to

be attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions.

These are to be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions.

These are to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks
questions. These are to be answered in about 50 words

each.

Question numbers 19 to 24 in Section A are five-marks

questions. These are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate

response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks

questions based on practical skills. These are to be answered in

brief.
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HET-3
SECTION-A

1. 39 GHSTAE 207 o 98t 31 98wl o 1U-§3 faRau fS/en yehmricaeh
e —Clg |

Write the molecular formula of first two members of homologous

series having functional group —Cl.

2. IIgFRa uifeafadt ¥ wrsimrsr o e fate @ am fafae | T fafy
AfiTeh 2 ST9an cifie ¢

Name the method by which spirogyra reproduces under favourable

conditions. Is this method sexual or asexual ?

3. Orias ford hed 2 7

What is an ecosystem ?

4. 1S fore 15 cm WishE gl o I GUVT & WA 30 om g W A 7 |
TYUT G o Hfciferesl o =R A& T Ioei@ i |

An object is placed at a distance of 30 cm in front of a convex
mirror of focal length 15 cm. Write four characteristics of the

image formed by the mirror.

5. GUING SeEE 991 g 7 GHSTIN Sl Q- 5R01 hl goidl § Jga i "

ST e ?
31/1/1 4



What is sustainable management ? Why is reuse considered better

in comparison to recycle ?

6. I Td 9 Sfta THTEAT T JeI-e ATk AUl e 2 | i 7 his
2l SR ST |
Management of forest and wild life resources is a very challenging
task. Why ? Give any two reasons.

7. 31 e AfeRl X 3 Y o 30 I U C4Hg 3 CsHy, B 1590 T
forerh! TeheT SR IRTH ol Tfereh FWTaT 81 Hehdl] § 7 310 3L h
oft HRF | T T § e SRR SRR 6 sren ¥ R
e TR +f e |
Two carbon compounds X and Y have the molecular formula
C4Hg and Cs5H;, respectively. Which one of these i1s most likely
to show addition reaction ? Justify your answer. Also give the
chemical equation to explain the process of addition reaction in this
case.

8. = fa¥ 7o veafes wefieRton i g AT :
(i) CH3COOC,Hs5+NaOH——
(i1) CH3COOH+NaOH——
(iii) C,HsOH+CH;COOH— "% H2804

31/1/1 5
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Complete the following chemical equations :
(1) CH3COOC2H5 +NaOH——
(i1)) CH3COOH+NaOH——

(iii) C,HsOH+CH3COOH 012804

9. T TTad TRelt % FHed Tarwi o &fasr dfwat o A fafaw | foreh
Fed T H W ¥ A9 W W dcdl o dTfeden Aaaegor #§ wm aiEdd
Bram B 7 foreft st s & srff 3t & aeff o S W wemny) B &
e H A1 giEdd BT 8 7 ST Gl YR o 3T o 98 H HROT
e |

Write the names given to the vertical columns and horizontal rows
in the Modern Periodic Table. How does the metallic character of
elements vary on moving down a vertical column ? How does the
size of atomic radius vary on moving left to right in a horizontal
row ? Give reason in support of your answer in the above two

cases.

10. S d@ P (W] &A1 20) ToRet 31 dc@ Q (U] @A 17) W
STHToRT ek hig AR a1 © | A= fou 71T w1 =1 shmor |fed 3™
i
JTEfeR AEd grofl § P o Q it fedrfem, qem P iR Q i safsifsran
SR & A1k o - feafa |

31/1/1 6



An element P (atomic number 20) reacts with an element Q (atomic
number 17) to form a compound. Answer the following questions
giving reason :

Write the position of P and Q in the Modern Periodic Table
and the molecular formula of the compound formed when P reacts

with Q.

11. 088, & - 3
(a) TN HIS IFRT F3 AW H he ST 8 7
(b) - I =l Uit Tfiedt gt ox iR St © 2
(c) UTUee B 75717 s SASITUeTt (THfSrT) He STt 2 7

What happens when :
(a) Accidently, Planaria gets cut into many pieces ?
(b) Bryophyllum leaf falls on the wet soil ?

(c) On maturation sporangia of Rhizopus bursts ?

12. ifireh S il gt SATEvIRAT 1 IgW I | Thfd & 36 TR 6 4
o1 Hecd fafau | 3

State the basic requirement for sexual reproduction ? Write the

importance of such reproductions in nature.

31/1/1 7 [P.T.O.



13. TR # B Aol a1 3g@ ShiTST 51
(a) U1 T (ST & ST 2 |
(b) TG ZWeh / U T Y= ALl Bl |
State the changes that take place in the uterus when :

(a) Implantation of embryo has occurred.

(b) Female gamete / egg is not fertilised.

14. YT H TH-Th A Id TC IRq 3R AT A& & sl
arfetent < €9 H fawed i |

Distinguish between the acquired traits and the inherited traits in

tabular form, giving one example for each.

15. Toreft Seretor i Temdar @ e $ifst for Fafafad # 8 Qe fore
TehR Sfiall ok forehrer o et H THIOT JEqd el © :

(a) GUSITT AT

(b) HEEY (HHA) T
(c) SiaTeH

Explain with the help of an example each, how the following

provide evidences in favour of evolution :
(a) Homologous organs
(b) Analogous organs

(c) Fossils

31/1/1 8



16. &% 4 cm =g H fora e 10 cm ®RE T & Fdd g0 &
e 15 em g W ferd ® | gdor & foredt ud Rt feraeft gt X e s R
39 R foma o1 wop wiafors umea @17 wfafora it = off afterfora
IS | 3

An object 4 cm in height, is placed at 15 cm 1n front of a concave
mirror of focal length 10 cm. At what distance from the mirror
should a screen be placed to obtain a sharp image of the object.

Calculate the height of the image.

17. wgHTl UM o dR-¢ geidt B o foreecti <i| o a=ficid o s
3T % RV IS GE-Y 304 T ST © | 39 ME-319 I 9 fAfa |
39 YR o ARKAT i g H IR o [oTQ A9 iF o6 TR 1 AH
fafau | 59 <ia it T iR rd 3t =men i | 3

Due to gradual weakening of ciliary muscles and diminishing
flexibility of the eye lens a certain defect of vision arises. Write the
name of this defect. Name the type of lens required by such persons
to improve the vision. Explain the structure and function of such a

lens.

31/1/1 9 [P.T.O.



18. TR ‘gataer feaw’ W foremer it wra el T § oS Wa SR
3Gkt weeer’ g W s & fau g mn g |
(a) TATSOT o SIS o foTU SIS W <hl GRaTT ot shi ST =mfee ?
(b) TT foreet < 3urn <t gt SR foeeh fower & sreydeh 3TmIE
39 79 fisll § SHTEeRal 3cad il TR ST GIiaXyl o d1g-a1e
ST 9T o EEI0T | off Terr el |

You have been selected to talk on “ozone layer and its protection”

in the school assembly on ‘Environment Day.’
(a) Why should ozone layer be protected to save the environment ?

(b) List any two ways that you would stress in your talk to bring in
awareness amongst your fellow friends that would also help in

protection of ozone layer as well as the environment.

19. 99 AR WIS GHI & AU 6 YR & | 39 IH § <R o7 |
T st wTg sk st fora fafyr forfaw | are e Sta < @y s
T e ST ? AT o T T fEeTSiel T TN S o T 30
T ATl TR a1 TS o 3gE ShIfTT |

Soaps and detergents are both types of salts. State the difference
between the two. Write the mechanism of the cleansing action of
soaps. Why do soaps not form lather (foam) with hard water ?
Mention any two problems that arise due to the use of detergents

instead of soaps.

31/1/1 10



20. (a) HHE T o 39 I I AW fIRIT ST I[RT7aTi ok FmTor o qrer-ne
T THMH 1 G0l FAT g | $Hh G Gl SHM 1 T IR
e feafa |

(b) WS HIET S a3 3 39 W b1 918 foTRae set = g @ |

(c) = Hifre o arar o IR & ofiew foshfira & gor =1 wor form
YR BT 2 | 5

(a) Name the organ that produces sperms as well as secretes a
hormone in human males. Name the hormone it secretes and

write its functions.

(b) Name the parts of the human female reproductive system where

fertilisation occurs.

(c) Explain how the developing embryo gets nourishment inside the

mother’s body.

21. e o TN G € fohd b Td g3 foh 5
(a) AEIUT TS TaT STIATS Bid @ ¢
(b) 3 &I T I ST Toh-FH § T Tl @ ¢
How do Mendel’s experiments show that
(a) traits may be dominant or recessive ?

(b) 1inheritance of two traits is independent of each other ?

31/1/1 11 [P.T.O.



22. 3T < & YR § forat gl (u) o wny wfafers g (v) @ fo=wor 0t
9T areft = & it Setor arferst w1 fargetyor Fifste o7 ufere fere

form & forferfaa sl & 3w @ifve -
EX fora g8 fcfers g
& u (cm) v (cm)
1 -90 + 18
2 - 60 + 20
3 - 30 + 30
4 - 20 + 60
5 18 +90
6 =10 +100

(a) 3T TIF ol BT U F1 © ? 37T I oh 9&T H R0 ST |

(b) 39 J&1u1 i A T fafay s @&t 7€ 7 | g% fseed ote R
TR THehTett ?

(c) =g oft 3faa YT I g W& 4 % foTw geRrer TR s
Hifery 3T Traes 1 T 7 T i |

31/1/1 12



Analyse the following observation table showing variation of
image distance (v) with object distance () in case of a convex lens

and answer the questions that follow, without doing any

calculations :
S. No. | Object distance Image distance

u (cm) v (cm)

1 -90 +18

2 - 60 +20

3 - 30 + 30

4 -20 + 60

5 - 18 + 90

6 —-10 + 100

(a) What is the focal length of the convex lens ? Give reason in

support of your answer.

(b) Write the serial number of that observation which is not correct.

How did you arrive at this conclusion ?

(c) Take an appropriate scale to draw ray diagram for the
observation at S. No. 4 and find the approximate value of

magnification.

31/1/1 13 [P.T.O.



23. (a)

(b)

(a)

(b)

24. (a)

(b)

(c)

31/1/1

TehTeT foRT ST it T R TH 7 Ut < foRn g E,
rehl gdor & wrerd= o ugeTd s fem S T et g @ | U
31 ToRToTi 1 gt SIS 37 STadct SUUT o YRl | qXrEr o YT,
3 ToRoT & eIl o1 3@ IS | 371 ST fohon oht 39T, 3Terad
adu 3 ga N wikw & ofr feora fereft fomear 3 wfaforar 1 feafa,
RIS ToRtUT TG WieeR F1d st § i |

IS JATAA U AT T 20 cm g0 R @ foreht fomar =1
T JTTatia wftfers 96 W ST © | 9al forat | foRat g W g ?

To construct a ray diagram we use two rays which are so chosen
that it is easy to know their directions after reflection from the
mirror. List two such rays and state the path of these rays after
reflection in case of concave mirrors. Use these two rays and
draw ray diagram to locate the image of an object placed

between pole and focus of a concave mirror.

A concave mirror produces three times magnified image on a
screen. If the object is placed 20 cm in front of the mirror, how

far is the screen from the object ?

T =11 <hi s fomr s Ei=eRt ifsi |

forelt e o firsw @ o W sTmufad v R % staEt gul
TFeH o ®9 H vk o1 81 S €, e iR ?

TS T ST TR foRToT ST Wit g9Tiey |

14



(a) Draw aray diagram to explain the term angle of deviation.

(b) Why do the component colours of incident white light split into

a spectrum while passing through a glass prism, explain.

(c) Draw a labelled ray diagram to show the formation of a
rainbow.
HAT-d
SECTION-B
25. 39 U IR WEHAAA, A, B, C 3R D # Hu3: HIeIH FHEHe,
Hiferm Felige, 93 &1 aHt ot i foremw ot faemm w21 @ @
forg /| Tort wEmferat o uetdl o1 3uAmT UEifdsE [/ wdHTEeH TR o TRt
TTeTuT o foTT AT SWIH 2 7 1
(a) I A
(b) A3MB
(c) B3RC
(d) A3MD

You have four test tubes, A, B, C and D containing sodium
carbonate, sodium chloride, lime water and blue litmus solutions
respectively. Out of these the material of which test tube / test tubes

would be suitable for the correct test of acetic / ethanoic acid ?
(a) only A
(b) Aand B

(c) BandC
(d) Aand D

31/1/1 15 [P.T.O.



26. SEANTSNET H AR i ATk &l goiiv / FElia e & e o
3T &R 1 = faam T i &1 RIS ded 31feren 3w W 7

(a) T & dd IR AicoTH TIgiTEe

(b) TS F dd R HicHIH TESFES

(c) AU &1 ot R Aifeay TEgiaEe

(d) Tl F da IR WA TESrFaTES

For demonstrating the preparation of soap in the laboratory which
of the following combinations of an oil and a base would be most
suitable ?

(a) Mustard oil and calcium hydroxide

(b) Castor oil and calcium hydroxide

(¢) Turpentine oil and sodium hydroxide

(d) Mustard oil and sodium hydroxide

27. TEt B 9 IR EHedl P, Q, R 3 S off 3R ycdsh 4 o9 8 mL
ST ST W | T, 39 T@qett P H Na,SOy4, QH K,SOy4, RH

CaS0y4, S ® MgSO, ! FHH AT el | Yedeh TWE-ei H 9
forer <l T a7 freme ot 38 wiell -wehr fodifed o w34 fSA
et B T AT H S UTE 8, 98 WEHIE ©

() P3M Q

(b) PR R

(c) P,Q3MW S

(d) QRIS

31/1/1 16



28.

A student took four test tubes P, Q, R and S and filled about 8 mL
of distilled water in each. After that he dissolved an equal amount
of Na,SOy4 in P, K,SO4 in Q, CaSOy4 in R and MgSOy4 in S. On
adding an equal amount of soap solution and shaking each test tube
well, a good amount of lather will be obtained in the test tubes :

(@) Pand Q

(b) Pand R

(¢c) P,QandS

(d Q,RandS

= o SfST o YUT ST S&UT RLd qHY TRl BT A e 13T STJER 9T o6
[EIRER NI CiCEIE

SSTTayT, SSvegR, sfisos, 31 :shad, T, AT |
39 1 I S & Heled A I8 [ewvll 3, foh 370 § shaet o1 A
T TR § | 37 < Fel 9T o6 9 STy :

(a) ST, SHSTTEoT, TT
(b) T, ST, AT
(c) IS, 3Td:%ha=, TATEI
(d) s, sfemegr, T

31/1/1 17

[P.T.O.



A student while observing an embryo of a gram seed listed various

parts of the embryo as listed below :

Testa, Micropyle, Cotyledon, Tegmen, Plumule, Radicle.
On examining the list the teacher commented that only three parts
are correct. Select these three correct parts :

(a) Cotyledon, Testa, Plumule

(b) Cotyledon, Plumule, Radicle

(¢) Cotyledon, Tegmen, Radicle

(d) Cotyledon, Micropyle, Plumule

29. THfeifad # 8 @HSITd S o §Y=[ i AT :

(a) e IR et & @

(b) THTES HR Fe[ h T@

(c) T, SIieh 3R {@Uehet! o STUTE
(d) faacf 3R =mmes & U@

Select the set of homologous organs from the following :

(a) Wings of pigeon and a butterfly
(b) Wings of bat and a pigeon
(¢) Forelimbs of cow, a duck and a lizard

(d) Wings of butterfly and a bat

31/1/1 18



30. @ BE A, B 3R C 7 foreft gy wam 1 s1aaet Ul il gerdT § ue
T Hihfad 5 | Stada gdur it wrwd gt et w0 & fae 3=k
frfafaa gt ard -

BE A : TUU Y UG q ol

BT B : Wad 9 9¢ %k ol g

B C : I 9 U T hl g

Tl BIhE g A9 STt /a1 BT & /3 - 1
(a) FHIA A

(b) Fad B

(c) A3RB

(d) B3R C

Three students A, B and C focussed a distant building on a screen

with the help of a concave mirror. To determine focal length of the

concave mirror they measured the distances as given below :
Student A : From mirror to the screen

Student B : From building to the screen

Student C : From building to the mirror

Who measured the focal length correctly :
(a) Only A

(b) Only B

(c) AandB

(d) BandC

31/1/1 19 [P.T.O.



31. If¢ 9 39 o 0 TRl gy Ty, fomeft smpfa fr @ T 8, &

gfafers sl 96 T BIefd L 8,
1
a7 39 forear o yfciforesr st strepfar anft - 1
@ 1w ol @
.. V- 1y ..

31/1/1 20



32. = feu U e ° wE ifha v R - 1

(a) LASR Le

(b) Li, /A3 LD

(a) LAandZLe

(b) Li,ZAand LD
(c) LA, Lrand Le

d LA, Lrand LD

31/1/1 21 [P.T.O.



33. = U U SR@ T U hivr, TRiG iU, ST9edA iUl AT qifvdeh
Toreemm =01 3Tl 1, 2, 3, 3R 4 g1 9 9 T ford YR giian T g ? 1

(@ 2,4,1,3
(b) 2,1,4,3

(c) 1,2,4,3

hamp

Vidya C

() 2,4,1,3 :

(b) 2,1,4,3
(c) 1,2,4,3

d 2,1,3,4

31/1/1 22



34.

35.

36.

S 3 fohet TEae! °§ Aifsam EgeT FHieHe o IISel ol 390
Uifeeh 31t STerd &, A i 2 i Jeseree o a1y s g e 2 |
39 19 &1 9 TR 3T 38 Tleer &1 quiH shiSTe STl 39 119 ol 989
Y FaT R |

A gas is liberated immediately with a brisk effervescence, when
you add acetic acid to sodium hydrogen carbonate powder in a test
tube. Name the gas and describe the test that confirms the identity
of the gas.

39 AR S & TR k1 9 fAfge fSad w9 Hifsen 9 a1
Tafd hIfTeRIaT st fFHTor grar 8 TR S IfITehT w1 AT T &

ST 2 | 39 Y| =01 ol 3@ iy ST 38 TehR & S99 ol 3TEA
211 2 | 39 S o U8 2l <N o 3TRg Wife |

Name the type of asexual reproduction in which two individuals
are formed from a single parent and the parental identity is lost.
Write the first step from where such a type of reproduction begins.

Draw first two stages of this reproduction.

1S B 10 cm HIHT Tl T ITA 0 TR TIWa] Sl SITel i o d &
TTHT 60 cm G W WAl 7 37 SaTer o Jfdfers s 96 W Behfad
AT B | 36k UYETq 98 SaTell ol ei-efR | sl ST e S @
3R g IR Wferst ol 6 W ishfid oft a2 |

31/1/1 23
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(a) AT o Ffdfere o1 Biehfid 3 & T a8 uq 1 fohd SR aeeprar
B- U AR AT AT A G 7

(b) ferferest = @Tgst 8 o gierd gran & ?

(c) aTcl ol & & e @ W wfafsr i digrar & =« afted= g
77

(d) < G T feRaHt g8 TR SATET i W T 3T GHH A1gs 6l 3ol
yferfora ST R ?

A student places a candle flame at a distance of about 60 cm from a
convex lens of focal length 10 cm and focuses the image of the
flame on a screen. After that he gradually moves the flame towards

the lens and each time focuses the image on the screen.

(a) In which direction-toward or away from the lens, does he move

the screen to focus the image ?
(b) How does the size of the image change ?

(c) How does the intensity of the image change as the flame moves

towards the lens ?

(d) Approximately for what distance between the flame and the
lens, the image formed on the screen is inverted and of the same

size ?

31/1/1 24



MARKING SCHEME Code No. 31/1/1

CLASS X — DELHI

Expected Answer/ Value point

Marks

Total

SECTION-A

QL

CH3 Cl, C,HsCl

Yo, %

Q2.

Fragmentation
Asexual

Yo
Yo

Q3.

A unit of biosphere in which biotic and abiotic components interact with each other.

Q4.

Virtual, erect, diminished, laterally inverted

4 XY

Q5.

Management of resources in a way that present day needs of the population are
justified as well as they remain available for future generation.

Reuse does not consume energy.

Q6.

Space (Clearing forests) is needed for developmental activities.

Our selfish attitude/ No respect for natural resources.

(or same explained in any other manner)

1x2

Q7.

C4Hs, it is an unsaturated hydrocarbon due to the presence of a double bond.

1+1

C,H,+H, —*“5C,H,,
% Catalyst
Y equation

Yo+l

(or any other)

Q8.

|) CH3COOC,Hs + NaOH — CH3COONa + C,Hs OH

ii)  CH;COOH + NaOH — CH3;COONa + H-0

i) C,HsOH + CH3COOH —S2Ha59% 5 cH.COOC,Hs + H,0

1x3

Q9.

Vertical Columns — Groups

Yo

Horizontal Rows — Period

Yo

Metallic character increases

Yo

Reason: Ability to lose electrons increases on moving down the group due to
increase in distance between the nucleus and the valence electrons /decrease in the
attraction between the nucleus and the valence electrons.

Yo

Atomic radius decreases

Yo

Reason: the nuclear charge increases on moving from left to right across a period
resulting in increase in the attraction between the nucleus and the valence electrons.

Yo

Delhi-31/1/1

Page 2



Q10.

Position of P Group — 2 Because it has 2 valence electrons/ 2, 8, 8, 2

Yo

Period — 4 Because it has 4 shells/ 2, 8, 8, 2

Yo

Position of Q Group — 17 Because it has 7 valence electrons/ 2, 8, 7

Yo

Period — 3 Because it has 3 shells/ 2, 8, 7

Yo

Formula PQ2

Because valency of P is 2 and that of Q is 1

Yo, Yo

Q11

a)

Each piece regenerates into new Planaria

b)

Bud, at its notches develop into new plants.

c)

It releases spores which germinate into new mycelium in moist conditions.

Q12.

Formation of male and female gametes, fusion of gametes/ syngamy

Importance — Combination of DNA from two different individuals lead to increase
in genetic variation in the organism

This leads to diversity in the population which helps in natural selection.

Q13

a)

When implantation of embryo has occurred the uterine wall thickens and is
richly supplied with blood to nourish the growing embryo.

1%

b)

The thick and spongy lining of the uterus slowly breaks and comes out through
the vagina as blood and mucus.

1%

Q14.

Acquired Trait Inherited Traits

Develop during one’s life time Are inherited from the parents

Do not bring about changes in the DNA of | Result due to existing changes
the germ cells in the DNA of the germ cells

Cannot be passed on to the progeny Can be passed on to the

progeny

(any two)

1x2

Examples

Acquired knowledge, loss of weight

Skin colour, colour of the eye
(any one)

(or any other)

Q15.

a)

Homologous Organs — The study of these organs suggests that these organisms
with organs having same structure but performing different functions have
evolved from a common ancestor, e.g. forelimbs of different vertebrates.

Yo
Yo

b)

Analogous Organs — The study of these apparently similar organs suggests that
the organisms with apparently similar organs do not share common ancestory.
Similarity in these organs is superficial/ Design and the structure of these organs
are very different, e.g. Wings of bird and wings of butterfly.

Yo
Yo

Fossils — Provide the missing link between the species, e.g. Fossils of dinosaurs
with feathers/ fossils of prehistoric horse/ or any other correct example.

Yo
Yo
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Q16.

4cm f =—10cm u=-15cm \Y;

I
D
>
N>
|
D

Yo

Yo

Yo

© hy=—Yxh, _ 30 4em =—gem
u

-15cm

Yo

Q17.

e Preshyopia

Yo

e Bifocal lens

Yo

e Upper portion/ part — Concave / Diverging lens

Y2

— To view far off objects

Y2

Lower part — Convex/ converging lens

Yo

— To facilitate/ view nearby objects

Y2

Q18.

a) Because Ozone layer protects/ shields earth from harmful UV radiations of the
sun

b) e Conducting poster making competition highlighting effects of ozone layer
depletion.

e Conducting street plays highlighting the ways of environment protection.

(or any other)

Q19.

e Soaps are the sodium or potassium salts of long chain carboxylic acids while
detergents are the ammonium or sulphonate salts of long chain carboxylic acids.

e The dirt is oily in nature and when soap is added to water, its molecules form
structures called micelles in which carbon chain of the molecules dissolves in the
oil while the ionic end dissolves in water and faces outside. The micelles thus
help in dissolving the dirt in water. (Note: 1 mark to be awarded if only labelled
diagram of micelle is given)

e Ca?" and Mg?* present in hard water form insoluble substance (scum) with soap.

e Two problems —

0] Non-biodegradable

(i)  Water pollution / soil pollution

(Note: 1 mark to be awarded for any one of the problems.)

Q20.

a) e Testes

Yo

e Testosterone

Yo

e Functions of Testosterone — I) Formation of sperms

Delhi-31/1/1
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I1) Development of secondary sexual characters

hx2

b)

Fallopian Tubes/ Oviduct

Yo

c)

Placenta, a special disc—like tissue embedded in the mother’s uterine wall and
connected to the foetus/ embryo

Yo, 1

Placenta provides a large surface area for glucose and oxygen/ nutrient to pass
from the mother’s blood to the developing embryo/ foetus.

Q21.

Mendel conducted a Monohybrid cross/ (crossed pure tall pea plants with pure
dwarf pea plants), observed only tall pea plants in the F1 generation, but on
selfing the F1 progeny both tall and dwarf pea plants were observed in F
generation in the ratio 3:1. Appearance of tall character in F1 and F, generations
shows tallness to be a dominant character. But absence of dwarf character in Fy
and its reappearance in F» confirms that dwarfness is a recessive character.

2%

b)

Mendel conducted a dihybrid cross and observed that though he started with
two types of parents, he obtained four types of individuals in F2. The appearance
of new recombination in F> generations along with parental type characters
show that traits are inherited independently of each other.

Yo

Q22.

f =+15cm

Yo

Reason: Objects at S. No. (3) indicates  u =-30cm, v =+30cm

Thus, object is at 2F (2f =30cm)

. f=15¢cm

b)

Observation at S. No. (6)

Y2

The value,u = -10 cm, indicates that the object is in between the optical centre
and the focus (i.e., less than the focal length) of the lens and hence the image
should be on the same side as the object. Thus the image distance cannot be
positive.

u=-20cm; v=+60cm; f =+15cm

1%

h, _—4.5cm -3
h, +1.5cm

Yo

Q23.

a)

e Listing of any two (out of four) rays and stating their path after reflection
from a concave mirror.

1,1

e Ray diagram

Using these two rays for the ray diagram when the object is in between the pole
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and the focus of the mirror.
b) u=-20cm m=-3
v
m=—
SoV=—mxu Y
=—(—3)(—20cm) =—60cm Ya
Distance between the object and the screen is 40 cm
=—60cm—(-—20cm)=-40cm Ya
Q24. | a)
Diagram 1
Direction of rays Y2
Marking £ D Ya
b) Different colour of white light bend through different angles with respect to the
incident light, as they pass through the glass prism. Thus, each colour emerges
along a different path, forming a spectrum. 1
C) Raindrop
Sunlight
Red
Violet
Diagram
1
Labellina 1
SECTION-B
25)d 26) d 27) a
28) b 29) ¢ 30)a
31)c 32)a 33)b 9x1
Q34. | Carbon-dioxide/ CO- 1
Delhi—-31/1/1 Page 6




Lime water turns milky on passing CO. through it. 1

Q35. | Binary Fission 1

Elongation of cell and its nucleus Yo

Correct diagram showing progressive elongation of the nucleus and cytoplasm. 1

Q36. Away from the lens

Size increases

Intensity decreases

About 20 cm 4 X%

Delhi—31/1/1 Page 7




=g 31/1/1

T SR / oA fag & | A
HOT - A
CH, Cl; C,H,CI B, | 1
e ; 3Tifeh ARSI
JaHEA 1 FIE SRS TTHH SoEh R ASTEEEH TR A=A
foren w0 2 1 1
STTEY, e, SRR H ®Bier, Uvd ufEfdd 4V 2

* YIhfdeh WHIEAI 1 39 UHR &1 JauA fgd gufe /SAaen
G0 M sl ME BRI 3 2 W | 2 RS 1 e R A 2 s B e M

Tifgal o fom off Suetsd & 1
o TF: SWAN; ik SHY Holl SUYHK &l Bl Yo, % | 2
o foshrEa foramamal o AT ToF 1 STEwashd

(I T TER /JeT HT HeTE) 1
o ATt (Teneft) gfteshior /urepfas TRt o Wfd iE WO A g

(YA HE A=A ATEAN) 1 ]
CH, Hq< TEgehEa 8, s o8 T fgemme 2l 1+1

CH ——— CH, [ SO - Y l 1 3

& T - Vs
(ST hIE 37)

i) CH,COOC,H, + NaOH — CH,COONa + C,H, OH 1
ii) CH,COOH + NaOH — CH,COONa + H,0 1
iii) C,H.OH + CH,COOH — 2% _,cH COOC,H, + H,0 1 3
o SHHAlER WH - UUE 2
o fcass @Ol o gafa e | iz

FROT : fordt ogE o R @ = IH W s SR A
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e Hed T SR / oA fag & | A
TRl o o= i O g W § / AR SR Gl gt
o S ST M Sl €, 3Fd: el o gl N Wi ot
93 Il 2l iz
] e T S B Vs
RO ; fRet oad H 9 ¥ TE IR T W AIfh oF STew |
Y BM o HRU 98 FASRAl SOl Sl iU a9 ¥ TR
F 2 iz 3
10. | P &1 o[ fa=mw - 2, 8, 8,2 Y
Q &1 soiHR fo=mE - 2, 8, 7 iz
P =t fefa - wqe 2, e 4 Vs
Q =t feafa - w9z 7, o7@d 3 Y
PQ,; [Ea®ad P-2 ; Q-1] Vo, Yo | 3
11. | » 9% el famfad g Qi () wrieEn &1 fmo &= aa g | 1
o Uil Bl SR Bl hictpd Ga1 § R ¢ 91 o faesfaa e
STt 2 1
o ASMOpeT SST0] g il €, S ST ST H el Ugsiad
o AT S S Y B 1 3
12. | T IR AR gt &m0 ; gt w1 Gerdm Yo, Va
Hed :
o 3 fu=1 omifieal o DNA o o 4 o+ sftg o Sifaes
fafarett & gefur et 2 1
* THh &R gEe o fafg=rar ot B, i wiehfaw =am |
e B R 1 3
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T3 &

JEITferd Ik / Hedioh fog

iED

RIui

13.

14.

15

a) YUl ok T H i 8 oh qvEd sHen! stiafek dd (fufe)
T eIt Sl € d gO % 9oy }q FR 1 Yo ot o9 S
21 gUT 1 A o TR G GO0 W FA o faw ww fawie
T (rder) e i fafea o foskfad = S R

b) TuferE =t Afger iR TSl ofafafa ot od -+ T Aft
At TR R = o w9 # fwhiiEa g 2

IqTfSid TT8TuT STTATITR LTI

o Sfteydq fassfad 2 21 o - @ ST e 2l
o S wiferRte % DNA o A wifvTRTe o DNA o
¥ #IE IRadd T8 H| g et Ifeds o sR

o 3d: e WG (et I B 2
qafd) # FemgTa T8l el o 37d: 3TICl Hafd /d@r d
TR : JE SH /AR | ST B Wehd 2l
T STV ; =HST HT qul, A
T U (YT T HIE)

° THSA M : THSE AT ok AL @ TE FeAl W et € foh
e A T SURYd G 99 # ) o e wE e €,
ST forehTd HH (SWATSS) geS W R R
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o AUEY [AHgfa 1 : K@y o 99M 37 1 o 31 ¥ 9% 9|
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e Hed T SR / oA fag & | A
16. | h=+4cm; f=-10cm; u=-15cm; v=? h,=?
I 1 1 Va
—_— ==
f v u
r_tr1
1_f u )
R
y  —10cm —15cm 1
S v=-30c¢cm
h_ v &
h17 u
; -30
h :—:—{xh1 *—_15:n11l><4cm =—-8 cm 1 3
17. | « SO-gEfted s
o fgwiendl o™ Ya
o T N — STEAA/ATR T — I fodl Hl @A ok foTg Vot
o f=en 9 — Saa/sfrEd dw — e o foal ®i SEw &% faw | Yt | 3
18. | a) =Fifr oA wa gd W oI dret et s fafewon @
TN GREM LA R 1
b) o urex fmfo gfeefi emifsa e o i a6
g 81 oh Yel TR YeRRISTe T Bl 1
o qFHE TICehl 1 ASH FH TAERoig FRam o Il T
TeRTeT STl T B 1 3
19. o WEA - Al Y@ oh HIEiIch Al oh HiteaH @l
WY e el ®, Sefeh eqmin (feeRsie) et sy@en
o ShTeifrafeTsh Tl o STEITE el HewHe a0 B 21| 1
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T3 &

JEITferd Ik / Hedioh fog

iED

RIui

20.

21.

o Yol (FeA) HI dAd Fepld el & IR o WA i 5ot § e
S R Al W o S7u] iy weeed s € SR g whed €
ol o W 1 HrEe gEen 9 § g Sl © S @R 9
STl H el B ® 3R I8 ST} i IR el g1 39 YHR fag
Tl &1 oI | Siel o Herd il 2

(72 : Ff% Sefer frder &1 THIFd SRE o1 & @ 137% foar Srq))

* H3R S H sufterd Ca® @ik Mg” o1eF i o @1
Irefereiier uered (ThE) oA R
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(i) em Frefieta

(11) ST JgH0T /37_1 5o
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o SRR
o 3R o HE - (1) YT SEET T A
(i) fedfae <ifie e 1 foshm
b) el At / sisantees
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T3 &

JEITferd Ik / Hedioh fog

iED

RIui

22.

b)

a)

b)

c)

F, @ F, <9 & difgail & ofa e 1 gehe g1 98 seran @
fo Wl &1 e 1 WAt e 1 F, e § S drei o6 A
U ST A8 S9itan @ o e gt @i 2

Hed 3 9d U fashedl Wig & WM W I faskedt Sl o
e BT gE R @ Yeror A W FE g R asafy s
T YHR ok i o WY YA ARY fwan on, wg F, Wt o
SH R YR & 9 9w gul F, f o Skl o @re-ane
2 T HA T Yohe TF1 I8 WA © foh A0 TdA €Y
T SO B T

f=+15cm

HRUT : ohH e 3 ° faa g u=-30cm
yfdfas g v =+30 cm

a1 fog 2 f R feora ® steiq 2 /=30 cm

&Y AT 6 HT Y0 TE AL 2

HROT : 1= -10 cm =A@ w¥ar € fF foa v g iR
& Hishd o s ¢ (3FUfd u < /), 31d: gfafaea 35 AR
T o R foe 7 ok wfafaa g0 (v)oers & & Hehd|

Rt em@ w9 u=-20cm ; f=+15cm; v=+60 cm

i

2%

2

vz
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e gen JEIfad e / Hedied fag & | A
23. a) * =R foreol § @ R 1 frvoll &1 gt iR sk foRtor o erada g
H WE o U9l o U i fREn 1 Seoral 1+1
o fF01 STR@ : 39 IR@ ¥ I o TE TR0 T T 9 U9 ok YA
AR A wiwd & dre foa w1 fufd & fau fewo sma i 1
b) u=-20cm; m=-3cm; m=-3
SLV=-mXu 1
=-(-3) (-20 cm) =-60 cm Va
o) ¥ f¥g & g = -60 cm -(20 cm) = -40 cm Y 5

b) A % 50 T ToRA R v9d YRRYS o A= 9o w1 erufad g o
iy fafa= wivl W ge e wRe g w1 ydw aut fafa= o

W ffd gt e w1 i e 2
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e gen JEIfad I / qediwd fag & | A
T - o
25. d 1 1
26. d 1 1
27. a 1 1
28. b 1 1
29. c 1 1
30. a 1 1
31. c 1 1
32. 1 1
33. b 1 1

36. | » d@EW
o wEd ¥ g e 2
o fgar wedt 2l

e T 20 cm 4XYs 2
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